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pronided that the latter limit exists,
fi = S a0+ -
+ﬂ§f—'l(z-:|)'+ ﬂ’;!ﬂl(s—ln)"f
: if’("' o).

2,4,6,8,10,... 2,4,8,16,32,...
— (n=1)
a,=a,+(n-1)d a, =ar
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ln(x)=‘[%d=>ln(2)=I}dt;o.s?!ls
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zﬁjal +(k-1)d

k=1
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A sequence {a,} is a function such that the domain is the set of positive
integers and the range is a set of real numbers.

Write five terms for each of these sequences:

= (_2 - }_ -
" 2n+1 a, = 'Z) 2’} 3,3 ':I‘?’
\ o 3 n! s 7Y
q="3",8,=< K" =7 °:'-:ﬁ—'—'7—
A==, %" l% < %
A series is the sum of a sequence. Z a; q1=('_%)|_=ji_=l
k=1 .
A partial sum is the sum of the firstnterms. g _=( & -4
An infinite sum is the sum from k=1 to . 3 Y =32l K
|
Find these partial sums: q‘l 1(<_>-\__-; -I—-‘D—: z
y! 3 3
> Sk age () 37
= k! = 2k +1 Sl SHY
— (-2Y 2 }1 - .
o' |1 | = IS
2. 2+
(k=0) (e=1) (k=2) > 2
3 * ( e
¥ (2 Y+| +|
3 + ( Y 4 S
(= 1) 41 \O +\
:\+—2-|-—L-L+_‘g- = A 7_—-*5*.1.(3_
R PR3 97



Arithmetic Sequence, Series Geometric Sequence, Series

d = common difference r = common ratio WA
~

b 0
) ke ] e
se nee
ﬂ Z)SJ%’)“JH)- K = 2’ b, I?z S ...

4=3 =3

partial sum infinite sum

AN

Da+(k-1d)
k=1

T o
n N \-\bQ
Sn 25(a1+an) Pagu"\

Determine the sum for each of these:

O3y s
(‘7\\:‘4/\~w:\\< Senre 83

g
Seo="5(4* 8

g, = 2k-3

Q=2D-3=-|

0= 2(<®)-3 = U}

= S = 254 943)
= 28(96
=Yoo







Common Elements of Sequences/Series:
Odd numbers ‘, 3, s,"]',‘i). .-
a,> Zntl, n=0\2,.. o daf 20| =12, -

Even numbers 2) "()(.J?) lo,. -.
Q=20 0223, or Q=2 n=234;..

Factorials |, |) ?, b, 2"() I'ZO,'Z\QOJ. ..
- [ | |
- 0')";2')3'>ql')ql',("l‘n--- a,= n! sN=0l,- -

ing si - o/ = (n-1)" z(,2,...
Alternatmgjlgns \, l) |)-|)\,-|,__” A, (n I). )1\ \,¢
= (- = -1
a,=( 0 " =0 1)7,... sv @,z (_‘)'\ , f\sl)l,?J. N
Powersof2 |,2,4,%,]k 32LM,...
B _ n-\

0,22 , n=0,2,... o G,=2L

n=1,3,3,...



Arithmetic, Geometric or Neither?

nthterm 20t term an— 0? Zak — some value?
k=1
6\4“'
a) 1,1,2,3,58,13.... (Fibonacs 50‘6‘/'-“\0-)
G, G =, Gn.—% O
G\ =0, + Q. (recursie) (a, dves not 3°4° O
an‘QH -I-q" _) v _
b) a;ZZ, an?:[— I’: ) n=|’2,, L_éQK DQ
sl £29 =0y - 1 =\ .
beBetel gede.r DLANTe
111 1 4 G,—0 (o.sn-"o‘3
- G | n
) yrvie  NTFEE oz
dah Sa. faik? Aok know
{ k=
a z n=(23 _‘_
»2r T q’°'2"° a,—o0 asn—aw
d) .9,.09,.009,.0009
h"\ wl ed Z.-E_ ‘~|/L"\
i —q— ,'i— ). . o
=1 1o’ o’ oo (9977“’\"\& sonies)
<9 a4 3
©'w’ I oV’
V\" v n ! y
a,=2 <91\ o TqVe W) Y
710 e : l = q
"= - 7o /o

0§+009+D.009+. - - =\
& 0= |



Write a formula for the nth term of these sequences.

a) 1,3,2,13,_
2°4°6°8
rri i
b) 274’16 256
o\ el
ahhowu_'v\adw-
T 4 &
sz) 5 2-) Z) .
c) -2 8 —26 80 —242
1’2" 6 ’24° 120

- |

2“ )f\=()7)3)...

(anM-k»\a S'n%ms)

N—

(0,- €T (3= 1)

n.

n=0,2,3 ...

3

| N_[2evPovient
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2| =2 !
n=1,23,... 3 Y=t
q £z 13=2_\I-|
S | (o:z_q= ZS-I
_Nurner adov

2,8,2L,%0,242,. ..
=(3-0, (&0, (0-1), G-, (43-D.....
*3-0,(3=0,(3-1) (31D, 3%,
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